EARAZROREIERT — 2 N—XBISY —F 201251898 (A) 1E=#3H

IR >%4mtE 500ARTF [EFE] = ‘ xfz] 2 ‘ [Emsh]l  — | & (&) 1900M &
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s S, 0 t 5 | EXRE 2:00.9 7-7-7-6 | 37.9| 94.3 | 1 498 | BAXME (ER)
1lgl15| FV—L7o v * 70 o Ge) | EIIL XA ()
RO=—J X124 B:v14x3Iv 7 AXETa—T7—L4h
— SN s > (.o~ :01. -10-12- . . HwHEZ (FXR)
5 6| ®@F—F -4y €2 5 37_0 (21011/21) 11-10-12-9 | 37.8 | 92.5 | 11 (5+2; e
B2 Y E—T BTIFALEA LY T — BRI
RS ¢ 8 U : -9-10- HEAE (EXR)
slgligl #91 > FrO-x% o4 a2 2(/(\);; 7-9-10-9 |37.9| 92.5 | 7 gs) %ﬁé;mt
L:F=TALNNT N BV —4IHFX S
SRS 4 5 | EAIEX 2:01.1 13-13-7-6 | 38.1| 92.5 | 2 476 | BE (BR)
4(5|10| TN K> 57.0 ) 2 ") T3 —
R:TFATLREA L B:ANTT2 AES
H$— 5 | ERET 2:01.2 15-14-7-4 | 38.2| 91.6 | 9 460 | KREHZ (ER)
51111 57.0 (1/2) (+6) BEEZER
QYLK YSYRIZ BiALFET—% J—ZAENZTRT AR
5 3 : 4 | FIEEBE= 2:01.4 5-5-5-4 |38.5| 89.9 | 3 500 | HATCIRH (3ER)
6l7l13| F—77—> 31k " 5.0 ) (+4) & T L—v2T
W ZAFA4d—ILK BE:IF5T 42X J—H Ty —LA
E AT : -0 FHEE (FX)
7 i@ H I/ TIRTLZ i o4 e 2.(011>.6 2-2-2-1 [39.0| 88.4 | 16 z:g()) E’é‘:ﬁf;
L:7HC4FALANE BiFyXTzAT7— i=tabre ]
N N o4 | AEEN 2:02.0 2-2-32 [39.2| 85.1 | 10 | 516 |AHE (RX)
8 7 X277 7—K 56.0 (2 1/2) -2) k1R
R:¥>in10—- B:ox5L-) [EalEspaed
= s i 44 | BEEE 2:02.0 5-5-3-2 | 39.2| 85.1 | 12 | 490 |HKEE (RR)
9|7l14| 71> 7ILR 56.0 (742%) ) ki%gg
L:7A7% B:A—bHLF— =i B
© e = ARER -02. ~7-10- . . I+RBE (FER)
10012 24/ Yy~Z 7 [B] 4 4 5_0 2(30/24)1 7-7-10-13 | 39.0 | 84.1 4 (gg) /\KEL&
RPNy aLHTT BUNT ZE %
S e N EEE : -10-13- BFA (EXR)
®@FJ)aa— o4 = 2(70%:)2 11-10-13-13| 38.8 | 83.1 | 14 (4;3) /J\gi—(
L ZXxv> BATVEATY i RS
— ., = R 102, -14-13- . . EFEE (ER)
hSLv=wy H 6 g (21012/44) 14-14-13-12| 39.0 | 81.5 | 8 (4_722) ;Egg
X THAANAN BO—RK— FPIS
- P——— 02, 45 5| 8. EElZ (R
Ny TFTyh— o4 s (279}274) 4-4-5-9 |39.5|81.9 | 6 (4+566) Sz
RG22 E— B X2 RFCI R BRT7—LI
- __ Al : -10-13- il
73/%37 [B] Al 2.(032).9 10-10-13-13/ 39.5 | 77.7 | 15 (4:3 Eiﬁﬂ% (FR)
R:FxIAMO— B:H4I-%5F =it
N S =R : —1-1- EHEE (EXR)
A4 amtyss i o4 )4 2.(0;1).1 1-1-1-8 | 41.5| 70.3 | 5 <f§§> A
R:xA1=ZTr7—2 BNLTFTyHL pakye)
S — 4 | EBEE= 2:07.0 16-16-16-16| 41.5 | 48.3 | 13 | 488 |WEB—% (F=)
JIWTIRT 14— L e 56.0 (21%) (108) | ARSI ILY
R:TSATLRE14L B:VNF—F52R W7 7 — L
@ 71 L
) 51.0-38.3
NA>ZA L | 7.0-11.3-12.0-13.1-13.4-13.1-12.7-12.7-12.5-13 .1
@ 11— S —EBlIEfL
13—7F— | 3(4,7)5(13,14) (2,15,16)11(8,6)10,12,1=9
2= = 3(4,7)5(13,14) (2,15)16(8,6,11)10-(1,12)=9
Gol=5r= (x3,4) (7,14) (5,13) (15,10,1) (2,16)6(8,11,12)=9
40—+ — 4(7,14) (13,1) (15,10)3(5,6,16)12(2,8,11)=9
[ N3
H OB 15 300M 714K 6-15 3,380H & 3-8 1,770M JEHE 6-15-16 49,650/
8 B 15 1609 15-16 1,130H B = 6-15 11,120 B 15-6-16 244,150
6 1,030 6-16 9,620/ B H 15-6 16,830
16 600F9

ABICOVWTRDTEEERROODE. TR LIV,



